There are usually three types of questions:

1. Find the elasticity of demand of supply by the given changes in price and total
revenue or total expenditure

2. Find the elasticity of demand of supply by the given percentage changes in price and
quantity transacted

3. Explain the conditions of a given change in total revenue or total expenditure

The following relationships are often used:

Elasticities of demand When P changes, the direction of TR changes:
Unitarily elastic (Eq= 1) Unchanged
(When P increases /decreases, TR does not
change)
Inelastic (E4< 1) Same direction
Perfectly inelastic (E;= 0) (When P increases, TR increases)
(When P decreases, TR decreases)
Elastic (E;> 1) Opposite direction
Perfectly elastic (E;= ) (When P increases, TR decreases)
(When P decreases, TR increases)




1. Kate said, ‘If apples become much more expensive, I will still consume the same
amount of it.” Which of the following diagrams illustrates Kate’s demand for apples?
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2. June spends the same amount of money buying new furniture every year, no matter
what the price is. June’s demand for furniture is

elastic.

inelastic.

unitarily elastic.
perfectly inelastic.
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3. The elasticity of demand of Good X is 2. After an increase in supply, the equilibrium
quantity rises by 30%. The equilibrium price would by .

increase ... 15%
decrease ... 15%
increase ... 60%
decrease ... 60%

oOow

4. Study the following diagram about the demand curve of a good.

Price (%)

Quantity

The mid-point of demand curve D1 is shown as Point X. Which of the following statements
are correct?

(1) At P,, the demand is unitarily elastic.

(2) Within the price range of 0 and P, the percentage increase in the price will be greater
than the percentage decrease in quantity demanded.

(3) Within the price range of P, and P,, the demand is inelastic.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)
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5. With advancement in production technologies in recent years, the production cost of
electric cars has been substantially reduced. The price of electric cars has dropped by
20% and the quantity sold has changed by 60%, other factors being constant.

This would suggest that within the above price range, there was an electric cars.
elastic demand for

inelastic demand for

elastic supply of

inelastic supply of

Sawp

6. IKEA and Pricerite are two furniture chains in Hong Kong. Hong Kong recently
suffers from an economic downturn and suppose the total revenue for IKEA falls.

(a) (1) Suppose the prices at IKEA remain unchanged initially. Explain why its total
revenue has fallen. (4 marks)

(i1) In order to attract more customers, IKEA later cuts its furniture prices. But the sales
department still finds the sales revenue lower than the period before the economic
downturn. Explain with a well-labelled diagram why this happened. (6 marks)

(b) (i) After IKEA cuts its furniture prices, Pricerite also experiences a decrease in its sales
revenue. Explain with a diagram. (5 marks)

(i1) Suppose the sales department of Pricerite cuts the prices of its furniture. Can it help
increase the total revenue of company? Explain with the aid of a diagram. (6 marks)
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